3.4 Conditional Probability
Def: Conditional Probability occurs when the outcome

of event A is dependent on the outcome of B.

Ex: A bag has 3 red marbles and 2 blue. Take one out
and do not replaceit. Jlgdal ¥marbles=5S

What is the probability of choosing blue on the next
choice? 5]
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In general, for two events A and B, the Probability of A
occuring given that B has occured can be found using:

AR = P(ANB)
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Ex: 53 people a. How many drink both? |
36 drink tea b. P(Tea not coffee)
18 drink coffee c. P(If tea, coffee too)

10 drink neither d. P(if tea, not coffee)
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